	9 18	QTY 9 9 2
GRAND TOTAL:	Mobile Installs Mobile Installs Dash Mount Face Plates TOTAL INSTALL:	Description APX6500 Dash Mount APX7500 Dash Mount Dual Band FLASH's and Cables TOTAL EQUIPMENT:
\$103,258.97	\$1,944.00 \$5,184.00 \$472.68 \$7,600.68	Total \$41,206.50 \$54,371.25 \$80.54 \$95,658.29

NOTE: Programming done by City of Orlando Radio Shop



2/15/2017

Customer:

City of Orlando

Address:

110 North Andes Ave

Orlando, FL 32801

Attention: Phone: Debra Weber 321-235-5208

Fax

Email:

Equip. Type:

debra.weber@cityofo

<u>rlando.net</u>

APX6500 MOBILE BROWARD COUNTY SHERIFF'S CONTRACT

RADIO (05 CONTROL HD)

DASH MT

QTY	Description		PRICE	EXT. PRICE
9	M25URS9PW1 N	APX 6500 7/800 MHZ MID POWER MOBILE	\$1,828.50	\$16,456.50
9	G806	ASTRO DIGITAL CAI OPERATION	\$386.25	\$3,476.25
9	G51	SMARTZONE OPERATION	\$900.00	\$8,100.00
9	G361	P25 9600 BAUD TRUNKING	\$225.00	\$2,025.00
9	G996	PROGRAMMING OVER P25 (OTAP)	\$75.00	\$675.00
9	G442	05 CONTROL HEAD	\$324.00	\$2,916.00
9	G444	APX CONTROL HEAD SOFTWARE	\$0.00	\$0.00
9	G66	DASH MOUNT	\$93.75	\$843.75
9	W22	PALM MICROPHONE	\$54.00	\$486.00
9	G24	3 YR SFS LITE	\$131.00	\$1,179.00
9	G625	ADD: DES/DES-XL/DES-OFB ENCRYPTION	\$449.25	\$4,043.25
9	G335	ANT 1/4 WAVE 762-870 MHZ	\$10.50	\$94.50
9	GA00226	GPS ANTENNA	\$56.25	\$506.25
9	B18	AUXILARY SPKR 7.5 WATT	\$45.00	\$405.00

Total:

Submitted By: Marcus Messura

Phone:

Address: 1064 Greenwood Blvd.

Fax: 407-562-3965

Cell: 321-228-6807

Lake Mary, Florida 32746

Email: marcus.messura@motorolasolutions.com

\$4,578.50

\$41,206.50

SOFTWARE KEY (QA01749) ships by default on all APX products W947 IV&D is no longer an orderable option it now comes by default on all APX mobiles

QUOTE GOOD FOR 60 DAYS

INSTALLATION PROVIDED BY CUSTOMER

PROGRAMMING PROVIDED BY ORANGE COUNTY RADIO SHOP

PLEASE MAKE SURE ALL PO'S HAVE THE FOLLOWING INFORMATION:

NET: 30 DAYS

MOTOROLA SOLUTIONS,INC 1303 E. ALGONQUIN RD SCHAUMBURG, IL 60193

YOUR BILL TO AND SHIP TO ADDRESS



2/15/2017

Customer:

City of Orlando

Address:

110 North Andes Ave Orlando, FL 32801

Attention:

Debra Weber 321-235-5208

Phone: Fax

debra.weber@cityofor

Email:

Equip. Type:

lando.net

APX7500 MOBILE BROWARD COUNTY SHERIFF'S CONTRACT

RADIO (05

CONTROL HD)

DAGILART	_	_	_	_	_	_	_
	٦.	A	0	1.1			_

QTY	Description		PRICE	EXT. PRICE
9	M30TSS9PW1 N	APX 7500 DUAL BAND MID POWER	\$2,133.75	\$19,203.75
9	GA00341	UHF R1 MP PRIMARY BAND	\$0.00	\$0.00
9	GA00308	VHF MP SECONDARY BAND	\$300.00	\$2,700.00
9	GA00579	ENABLE DUAL BAND OPERATION	\$450.00	\$4,050.00
9	G806	ASTRO DIGITAL CAI OP APX	\$386.25	\$3,476.25
9	G51	SMARTZONE OPERATION	\$1,125.00	\$10,125.00
9	G361	P25 TRUNKING SOFTWARE	\$225.00	\$2,025.00
9	G996	OVER THE AIR PROVISIONING	\$75.00	\$675.00
9	G442	05 CONTROL HEAD	\$324.00	\$2,916.00
9	G444	APX CONTROL HEAD SOFTWARE	\$0.00	\$0.00
9	G66	DASH MOUNT MID POWER	\$93.75	\$843.75
9	GA00505	ANT 2DB WIDEBAND 380-520 MHZ	\$37.50	\$337.50
9	GA00510	ANT 1/4 WAVE WHIP 136-144 MHZ	\$37.50	\$337.50
9	GA00226	GPS ANTENNA	\$56.25	\$506.25
9	W20	KEYPAD MICROPHONE	\$135.00	\$1,215.00
9	B18	SPKR 7.5W AUX SPEAKER	\$45.00	\$405.00
9	G78	3 YR SFS LITE	\$168.00	\$1,512.00
9	G625	DES/DES-XL/DES-OFB ENCRYPTION	\$449.25	\$4,043.25

Total:

Submitted By: Marcus Messura

Phone:

Address: 1064 Greenwood Blvd.

Fax: 407-562-3965

Cell: 321-228-6807

Lake Mary, Florida 32746

Email: marcus.messura@motorolasolutions.com

\$6,041.25

\$54,371.25

SOFTWARE KEY (QA01749) ships by default on all APX products W947 IV&D is no longer an orderable option it now comes by default on all APX mobiles

QUOTE GOOD FOR 60 DAYS

INSTALLATION PROVIDED BY CUSTOMER

PROGRAMMING PROVIDED BY ORANGE COUNTY RADIO SHOP

PLEASE MAKE SURE ALL PO'S HAVE THE FOLLOWING INFORMATION:

NET: 30 DAYS

MOTOROLA SOLUTIONS, INC 1303 E. ALGONQUIN RD SCHAUMBURG, IL 60193

YOUR BILL TO AND SHIP TO ADDRESS



2/15/2017

Customer: Address: City of Orlando 110 North Andes Ave Orlando, FL 32801

Attention:

Debra Weber

Phone: Fax

Email:

Equip. Type:

321-235-5208

debra.weber@cityoforl

ando.net

FLASH'S AND ACCESSORIES

Phone: Fax: 407-562-3965 Cell: 321-228-6807

Address: 1064 Greenwood Blvd.

Lake Mary, Florida 32746

Submitted By: Marcus Messura

Email: marcus.messura@motorolasolutions.com

BROWARD COUNTY SHERIFF'S CONTRACT

QTY	Description		PRICE	EXT. PRICE
		MOBILE CABLES		
2	HKN6184C	MOBILE PROGRAMMING CABLE, USB	\$40.27	\$80.54

Total:

\$80.54

SOFTWARE KEY (QA01749) ships by default on all APX products W947 IV&D is no longer an orderable option it now comes by default on all APX mobiles

QUOTE GOOD FOR 60 DAYS

INSTALLATION PROVIDED BY CUSTOMER

PROGRAMMING PROVIDED BY ORANGE COUNTY RADIO SHOP

PLEASE MAKE SURE ALL PO'S HAVE THE FOLLOWING INFORMATION:

NET: 30 DAYS

MOTOROLA SOLUTIONS,INC 1303 E. ALGONQUIN RD SCHAUMBURG, IL 60193

YOUR BILL TO AND SHIP TO ADDRESS



2/15/2017

Customer: Address:

City of Orlando 110 North Andes Ave Orlando, FL 32801

Attention: Phone:

Debra Weber 321-235-5208

Fax

debra.weber@cityoforl

Email:

ando.net

Equip. Type:

MOBILE INSTALLS

Submitted By: Marcus Messura

Address: 1064 Greenwood Blvd.

Lake Mary, Florida 32746

Phone:

Fax: 407-562-3965 Cell: 321-228-6807

Email: marcus.messura@motorolasolutions.com

QTY	Description		PRICE	EXT. PRIC
		MOBILE INSTALLS	11102	EXT. PRIC
9	INSTALL1	APX6500 DASH MOUNT	\$216.00	\$1,944.00
9	INSTALL3	APX7500 DASH MOUNT FOR RESCUES	\$576.00	\$5,184.00
18	FACEPLATE	FACEPLATE FOR DASH MOUNT RADIOS	\$20.20	4470.00
			\$20.26	\$472.68
	77,36) 6/1/6	THE STEET OF BASIT MOUNT RADIOS	\$26.26	\$47

Total:

\$7,600.68

SOFTWARE KEY (QA01749) ships by default on all APX products W947 IV&D is no longer an orderable option it now comes by default on all APX mobiles

QUOTE GOOD FOR 60 DAYS

INSTALLATION PROVIDED BY CUSTOMER PROGRAMMING PROVIDED BY ORANGE COUNTY RADIO SHOP

PLEASE MAKE SURE ALL PO'S HAVE THE FOLLOWING INFORMATION:

NET: 30 DAYS

MOTOROLA SOLUTIONS, INC. 1303 E. ALGONQUIN RD SCHAUMBURG, IL 60193

YOUR BILL TO AND SHIP TO ADDRESS